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1.1
PREFERENCE BALLOTS AND

PREFERENCE SCHEDULES


DEFINITION:


A PREFERENCE BALLOT is a ballot in which a voter is asked to rank all the candidates in order of preference.


DEFINITION:

A PREFERENCE SCHEDULE is the simplest and the most compact way to completely summarize the voting in an election based on preference ballots.

1.2
THE PLURALITY METHOD


DEFINITION:

THE PLURALITY METOD: the candidate (or candidates if there is more than one) with the most first-place votes wins.
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A gets 6 first-place votes

B gets 8 first-place votes
C gets 5 first-place votes

D gets 7 first-place votes
Hence, if we use plurality method, B is the winner.
1.3
THE BORDA COUNT METHOD


DEFINITION:

THE BORDA COUNT METHOD: each place on a ballot is assigned points: in an election with N candidates, we give 1 point for the last place, 2 points for the second from the last place, …, and N points for the first place.
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A gets 24+24+5+15+6=74 points
B gets 32+12+10+5+4=63 points

C gets 16+6+20+10+2=54 points

D gets 8+18+15+20+8=69 points
Hence, if we use borda count method, A is the winner.
1.4
THE PLURALITY-WITH ELIMINATION METHOD


DEFINITION:

THE PLURALITY-WITH-ELIMINATION METHOD is based on the principle of survival of the fittest. The basic idea is to keep eliminating the most “unfit” candidates, one-by-one, until there is a winner left. The criterion for “fitness” is the number of first votes received.
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Round 1: C is eliminated first since
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Round 2: A is eliminated second since

Candidate




A
B

D

Number of first-place votes:
6
8

12

Round 3: B is eliminated third since

Candidate
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Number of first-place votes:

8
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Hence, if we use plurality-with-elimination method, D is the winner.









